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1. As a salesman, you should remember that your cardinal rule is to do everything you
can to satisfy a customer.

@ definitive @ gigantic

® potential @ principal
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[HZ]] cardinal &8t definitive =&, ZZAXMl gigantic i St potential ZHAHZ 2l
principal 25+ salesman EHOH-, ALY
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2. The audio of the surreptitious recording clearly indicates that the participants did not
want to be recorded.

@ clandestine @ statutory
@ forthright @ seraphic
=1 HO)

o

[012]] surreptitious H|Z 2| clandestine H[Z2|, 2ot statutory B2 2| forthright &% 6t
seraphic AL Z2 indicate “tEHHCE Zt2[Z|CH participant &7 A}
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3. CtS et & of M5k A2?
@ A: Why doesn'’t this device function properly?
B: You ought to plug in first.
® A: How long does it take from my house to his office?



B: Hopefully, by the end of the week.

® A: Do you know where | can rent a wheelchair?
B: Try around at the back gate.

@ A: You're going to be present at the staff training session this weekend, aren’t you?
B: Its mandatory, isnt it?
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[01Z]] device Z717| function 7| S35tCH properly M2 plug in 22135 Zc} mandatory 2|
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@ A ol 717] o HMohz EESHE| 2xl?
B: X MY ABsHOK
@ A 22l ZolM 1ol BAIR] opt Hai?
B: HI2H2icH ol FUmxIT S,
® A ZHOIZ ofCiolA ToiE & UEX okl 2
B: $2 FHOIA Lopwa 2
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B: o2 @ote. 1% H?
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Allium vegetables — edible bulbs (@O including onions, garlic, and leeks — appear in
nearly every cuisine around the globe. @ They are fundamental in classic cooking bases,
such as French mirepoix (diced onions, celery, and carrots), Latin American sofrito
(onions, garlic, and tomatoes), and Cajun holy trinity (onions, bell peppers and celery). ®
While we sometimes take these standbys for granted, the flavor of allium vegetables can
not be replicated. And neither their health benefits @ can, which include protection from
heart diseases and cancer.
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(D Both adolescents and adults should be cognizant to the risks of second-hand smoking.
@ His address at the luncheon meeting was such great that the entire audience
appeared to support him.

® Appropriate experience and academic background are required of qualified applicants
for the position.

@ The major threat to plants, animals, and people is the extremely toxic chemicals
releasing into the air and water.
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® require, inquire, asks2 27, RLE SAIE 384, E= F=FHEZE &£
SHESt= HWAL ol MA[AL of & AtESto] ~ol[A|’e| 2|o|E LtEPHCL £
@O be cognizant of ‘~2 &1 U= QAlstD U='S 2lo|stct, w2t toE XA of 2 HE
T Mot stct. (be cognizant to — be cognizant of)

@ such ~ thatZl so ~ that® ZF ‘4T ~siA ~sStchel= Zxte| 2o|E LiERACH T8
Lt suche SHHALEAM BEEA| HALE 4510, soc= FAIREM EEAUEAL oM ALZE
Ct o] &A= FEALRl greatE TAlst2=2 FALel so7t A etstct. (such great — so
great)

@ F0{7} the major threatO| 22 FAL HEfZ is2l= CHEEiZ & Z0| Hi=2Ch a8t
ol 2 releasing into the air and water= 22| extremely toxic chemicals& 4!st=0|,
olo| &t ‘whEE =2l =32 2oo|Jt JA2n, releasing Flol FHOE U222 A EALS

HEf 2 WOl St (releasing — released)

6. L= 7 FEo| S0{& SH2E I MAES A2?
Its often said that . Actually this proverb is, for the most part, not true.

For much of the history of modern neuroscience, the adult brain was believed to be a
fixed structure that, once damaged, could not be repaired. But research published since
the 1960s has challenged this assumption, showing that it is actually a highly dynamic
structure, which changes itself in response to new experiences, and adapts to injuries —
a phenomenon referred to as neuroplasticity.

@ a stitch in time saves nine

@ birds of a feather flock together

® you can't teach an old dog new tricks
@ two heads are better than one
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7. Research shows you'll eat less food and take in fewer calories if you eat slowly, so
yourself at holiday meals.

@ hide @ express
® pace @ betray
[HEN @

[013]] take in M FSICH E35ICH express E8SICI hide &7|Ct pace ST & FXISiCh
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8. The government is currently trying to find an alternative to garbage disposal to
environmental pollution.

@ slope off @ head off
® set off @ run off with

[EE] ®
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On a bright spring morning 50 years ago, two young astronomers at Bell Laboratories
were tuning a 20-foot, horn-shaped antenna pointed toward the sky over New Jersey.
Their goal was to measure the Milky Way galaxy, home to planet Earth. To their
puzzlement, Robert W. Wilson and Armo A. Penzias heard the insistent hiss of radio
signals coming from every direction — and from beyond the Milky Way. It was cosmic
microwave background radiation, a residue of the primordial explosion of energy and
matter that suddenly gave rise to the universe some 13.8 billion years ago. The scientists
had found evidence that would confirm the Big Bang Theory, first proposed by Georges
Lemaitre in 1931.

@ The light helps rule the Big Bang Theory out.

@ The mysterious signal means a steady state of the universe.

® The universe was in a steady state without a singular beginning.

@ The radiation is a residual effect of the explosion which Lemaitre theorized.
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[01&]] astronomer ™ -2&tA} tune =X SICH horn-shaped £ 2 2F2| Milky Way galaxy 235HAH
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10. ot 29 M=s2=2 7He HES W27

If we can’t directly intuit what's in our minds, then our only option is to approach the
investigation of internal things (like knowledge and mental states) as we would approach
the investigation of external things (like birds and planets). That is, we must formulate
explicit theories in order to reach a satisfactory explanation of the facts. Since we can’t
look directly at what's inside the minds, our job will be to figure out what's inside on the
basis of what we can observe from the outside.

@ A talking analogy

@ A black box problem

® Dividing up the problem area

@ Comparisons with human language
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The green revolution was the result of a sequence of scientific breakthroughs and
development activities that successfully fought hunger by increasing food production. Basic
ingredients of the green revolution were new seeds, use of chemicals and proper
irrigation system. (O The green revolution resulted in an increase in production and

changed the thinking of farmers. @ It improved resistance of crops to diseases and

created massive job opportunities within the industrial and agricultural sectors. ®

Therefore, the environmental cost of chemical fertilizers and heavy irrigation has caused

considerable controversy. @ Self-sufficiency in food grains also affected the planning

processes and gave a boost to the national self-confidence of then emerging

democracies.
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[01%]] green revolution =4f &9 gequence % breakthrough =I}7 hunger ZFTE
ingredient 22 seed M| St irrigation Zt7H production A&t resistance X & environment cost
stA H|-& fertilizer H| 2 controversy =2 self-sufficiency X2 A&
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12. @& & F29| ofolet J1& 7z A2?

When | heard the poem, some of the lines rang a bell.



® sounded familiar @ became music
® seemed weird @ were interesting

e O
[012]] ring a bell S0{& Z0| AUCt, MZfLict poem Al weird O|&Fgh, =45t
BHA] o O AIE S o, O A9l dF 2 502 Fo| AUCh

13. g 29| U2 x5t H2?

On June 23, 2016, a historic referendum took place in the United Kingdom (UK). The
referendum question was: “Should the United Kingdom remain a member of the European
Union or leave the European Union?” The possibility of Britain leaving the EU became
known as Brexit. Over 30 million people voted in the referendum. The turnout was higher
than Britain’s last general election. Eligible voters were British, Irish, and Commonwealth
citizens (18 and over) living in the UK. On June 23, 52% of voters chose “Leave the
European Union.” This shocked the world. Within hours, the value of the British pound
(£) had fallen to a historic low and Prime Minister Cameron had stepped down. In the
weeks following the referendum, millions of people signed a petition asking for a second
referendum. The new prime minister, Theresa May, told citizens that “Brexit is Brexit.”
Negotiating the exit will take approximately two years. The status and rights of British
nationals living in the EU and of EU nationals living in the UK are a primary concern.

D Britain joining the EU is called Brexit.

@ All people in Britain participated in the vote.

® 52% of voters wanted the UK to leave the EU.
@ The value of the Euro had risen after the vote.

[HE] ®
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[012]] referendum =TI T3 turnout &7HAtS eligible XtZ0| U= step down (HZ0A])
E2{Lict national =2 petition & A negotiate & 2|5tCt

[BA] 20164 6% 23, FIoM= AAAQ FCFEIL JARUCtH FLUFES| FH= D=
2 EUS HMHZ Holot st=7t, EUE EtE|SHo} st=7t?"RAct I=0| EUE EEZ F+= U
= 7tsM e Brexitzt XA = Act 3MoE @ o|Ato| FoIFEo| Fo{ct EIIRE £
= X 9= sMEct sgch FAXE 184 ofAte] d=Ql, ofdai=el, J2|1 ¥=of
A Qe dodek Alolo|dct 6™ 2320 52%2| FEAISO| “EUS EHESHE 278 MEI
Ch o|H2 M MAHo 54 Fch € AlZE W 9= o2E(£)el Jtxle Al z™MX =2 ¢H
O{® 1, Cameron 42 Ai2|olM Z2{Gict 20 F% & @ FIF X F=uok gdo] Azt
=2 2& FEE 27sts HEAMol MYEZ Mok M 42 Theresa May= =CI=0iA
“Brexit= BrexitCh’l URMCt EEE #olst= W2 o 20| A2 Zo|ch EU &1 U=



gd= F2US J2[d =0l 42 A= EU =71 el S9| A2z Azt =& 2l Atolct

un

O E=0| EUd 7tst= 2ol BrexitELT’_ ===

@ g=0ll A= ZE ARIEO| FEol| FoiRict

® FIEAY 52%+= ¥=0| EUE EEsHE 3t

@ FE olF R=2o| JIx|7} S%tcl.

[sil 4]

Q@ L= W ZZolAM 68 230 FEAE 52%7t EUE EESHV|E |t st

O M ¢ ZZolM d=0| EUE EE[St= AS Brexitgt st A2 & + AUt
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SeX off = & F gich

14. f2|Lg oojz It B g7
@ ks ol Moz olAb 2 x| 3Wo| =3Ych

— It was three years since | moved to this house.

@ <el= szt 7| ™ol 2 =Alol ==tsfiof Shot.

— We must arrive in the city before the sun will set.
@ te JH7E s EG7tX] O & EotEX| ZFsich
— | wonder if she finishes the work by tonight.

@ 1= ASsls WA, F2 MMdoR EhYs 4 lgich

— Although making a mistake, he could be respected as a good teacher.

[HE] @

(3l ]

@ Although he made a mistake2| ZZOIAM FO{7} 2222 FO|E MBSt FAl ing
£ 201 EAMTE0| & ZHolch HHAs 2o|E detst strfls 2ATE 2ol 20 &£
T UCH

@ sinceFloll= Al™el 2o|E LiEN= LHAHAIXMTE HIZA AL EA2H, O AIHERH
30| AH=EHst =Ricks oojol22 FHol= AZel ool Zdste A 2b=T7F 2ot
StCh (It was three years — It has been three years)

@ HSAL beforeZ A|ZISHE AlZEe| RAMEOAM = Dl2i & ZEdsts ZSAE will2 SX A
M2 CHx|sto] ArZerct mh2bAM will seto] ALEE 4= 8lCh (before the sun will set —
before the sun sets)

Q@ ife ‘22t ~2teol2ts on|E x=Hel BAMEE o|Z1 o W Z=SAF will CHAL XY Al
M2 A sto] Attt d2fut ZHEAL if7b ~QlX] ofdX|’e| 2jo|2 WAEE o|&1, Of
4% olefel olojd H9 o|efAME OHE AL Sl

o] E&oM= SAF wondere| =X0| A2 st WAEES o|Z1 Uct ETH by tonight

ol2t= olefel BEAtFIE A2 2 o|2iAIME Kotk Stct. (she finishes — she will finish)
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15. Speaking of names, it's important to check how they are spelled — nobody wants to
see their names misspelled. In English, there is often a mix of ways of
spelling names that are pronounced the same way: Mclintosh or Mackintosh, Stevenson
or Stephenson, Davis or Davies, Frances (female) or Francis (male).

@ bewildering @ suasive
® clever @ foreign
[HE] O

[o12l]

speaking of ~ofl Ztslf ZstotH, ~2| ofof7|2tH spell EALStEt, At misspell 2% & A}st
Ct, EXE ZHXZs5iCt female 014, 012 male EA, =AM 2| bewildering &7 st=, 2
£ 2 & st= suasive M55, 7H £E2

3l 4]

Speaking of names, it's important to check how they are spelled — nobody wants to see
their names misspelled.

Ol 5ol Zhsll LUSHAH, JHWS0| O{EAH HAL =H=AE 2el

Atalef ol 50| #x EAE = A2 Al 27| Wizolck
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rr

e He &5t 7%
In English, there is often a bewildering mix of ways of speling names that are
pronounced the same way

gojols BT €2 Yoz U3Es YSAHR(ESS FUSNSH =7 Aol At
off Z1 EA|(Mcintosh == MackintoshZ ZEXI=ICl) AE[E2 =
O|H|A(Davis == Davies) = A|A(Frances (0140] &)
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Ze waoz wgsylE SHXE HAE olsts 0l80| Yo=E oS0 BHAE el
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2=2otsb g olo|st= @ bewilderingZt 7HE A gtsict

16. In Book VIl of “The Republic,” Plato paints a picture of ordinary people imprisoned in
a shadowcave, unaware of the true reality hidden from them. When a prisoner is
released from the cave, he initially suffers from the sun’s blinding brightness, yet as his
eyes adjust he begins to see the truth. If he were to return underground to enlighten his
former fellow prisoners, they would not believe him, . Plato’s
allegory is a powerful metaphor for contemplating a divide between ignorance and

enlightenment — between the “visible” world and the “intelligible” realm.

@ for they could be inspired by real things outside the cave



@ for they couldn’t imagine a world beyond the shadows dominating their existence

@ for they could drag themselves out into the light of the sun

@ for they couldn’t turn away from the things which he was able to look at outside the
cave

[HE @

(o120

paint J12|Ct, Md5tH ZSSICH ordinary 2&2f, HH S imprison §£Sotct, mEaof Eot
shadowcave J1& At &= unaware 2=, YX| Zst= release sl &stCt, A&siCt initially
X0l blinding 0| ok 20|A| St= brightness 45, & adjust =& 35tct, XEC} enlighten
H a5t 7t=%Ict allegory IS, 3t metaphor 25, HI® contemplate & 5ICt, AlAbs
1stct divide 2, ZAXM ignorance FX|, F4] enlightenment A&, &S visible AlZ+2]
intelligible X|A X2l realm ¥, 2= inspire Q&= FCt, A2{sict dominate X|dfstct, &
otstct existence £, $& drag ZCt, B0t

[5H44]

<The Republic> H7H0AM, E2IE2 O XA s=0f 28l A, 2s2FH 5747 FFsk A
Mol cisf LYX| Zol= Y AFRISES BEAlst otk & F7F 20 Z2{4H =
MBols Ble =2 % 27 & 2HE 2 dez 1ss Yech agut a9 =of At
Hgsl 7tHM = ZAMSE 27| AlFtsct ohd O7t ol S2 A FE2 A SAIZI7] 26l
Xtz ZofZtctH, 252 I8 X 25 Ao, o|nd2 O50| a2 EME Xtist=
JEAE "o Matks Matet = g7 E0|ct Z2tEQ = FX[2F AS A0l - &
of Z2ol= Matmt XMool olaff HES = U= Y Ato] - of ZAE 2ol Yztstets 2
st 27o|ct

O 2 52 259 MM Al2d os s ges = U7 WEolct

@ I52 352 EME Xusts JEAE HojMe AE &g 5+ 7| Wf&Zo|ct

@ IS 1= Yo Yoz AAES BoY £ U7| wj-2olct

@ 252 52 HolA O350 8 = U= ASEZRE =2 =22 F 7] W&2o|ct

[3il 2]

glizh gtol Li82 2 OB A S20 2 T™st AME 2 5 gicht s=22 Hodt =
ofof ZIAsS &2 = o st d¥g ot Act =, 2EX 20 &5 AW I J-A
£ Ho{M FMo MasS satg 5 glcte 2o 2ot

It was November: rain fell coldly and drearily. He buttoned himself in his long raincoat
and went to meet her. She had promised to wear a red carnation; the suggestion was
her own, and tickled him hugely. As the pink-faced suburbanites poured, in an icy
stream, into the hot waiting-room, he looked for her. Presently he saw her: she came



toward him immediately, since his height was unmistakable. They talked excitedly
flustered, but gradually getting some preliminary sense of each other.

@® The man and woman are meeting for the first time.
@ The man lived in a suburban neighborhood.

® The man was tall and ticklish.

@ The man suggested the woman wear a flower.
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Climate change has narrowed the range where bumblebees are found in North America
and Europe in recent decades, according to a recent study, published in the journal



Science. | ] “Bumblebee species across Europe and North America are declining
at continental scales,” Jeremy T. Kerr, a conservation biologist at the University of Ottawa
in Canada who was the lead author of the report, said at a news conference. “And our
data suggest that climate change plays a leading, or perhaps the leading, role in this
trend.”

(A) Logic would suggest that the northern reaches of their home turf* would shift to
higher latitudes by a corresponding distance.
(B) The paper suggests that warming temperatures have caused bumblebee populations
to retreat from the southern limits of their travels by as much as 190 miles since the
1970s.
(C) But that has not happened, leading researchers to think that the more northern
habitats may be less hospitable to them.

* turf: short, thick, even grass
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The financial rewards of owning your own business may not happen (A) you
put in years of hard work. The desire to make money may not be enough to
(B) you going through the difficult early period.
(A) (B) (A) (B)
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— We asked him about this job.

@ 2s2 TV ilis 25 ERXCL

— They stole everything but the television.

@ AMAtg I & otA= A E4?

— s drinking water while eating good for you?
@ "7l skX|gh QRS ofds| A A o|ch
— That said, it is still a religious festival.
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tCt. (about this job — to do this job)
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